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CHRIST CHURCH FOUNDATION SCHOOL
4th FORM MULTIPLE CHOICE PROMOTION EXAM
2005-2006
INTEGRATED SCIENCE
(Single-award)
General Proficiency
1 hour
READ THE FOLLOWING DIRECTIONS CAREFULLY
Each item in this test has four suggested answers lettered (A), (B), (C), (D). Read each item you are about to answer and decide which choice is best.
The paper consists of fifty (50) multiple choice questions. Use the Multiple Choice Answer Sheet provided to SHADE the letter of your choice.
DO NOT TURN OVER UNTIL YOU ARE TOLD TO DO SO
Question 1 refers to the diagram below which shows a developing foetus.
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1. Which structure is the placenta?

(A) I


(C)
III

(B) II


(D)
IV

2. Which of the following is TRUE of the test using Benedict’s solution for reducing 

      sugar?

(A) The mixture must be heated.

(B) The reagent solution is brown.

(C) Dilute sodium hydroxide is necessary.

(D) The positive result is blue-black.

3. Which process is associated with the removal of waste substances formed by the 

       cells of the body?

(A) Excretion


(C)
Egestion
(B) Absorption

(D)
Assimilation

4. Which of the following statements describe(s) what is likely to happen to a man 

      who drinks sea water instead of fresh water over a period of time?
I. The salt content of the man’s blood may rise.

II. The man will urinate more frequently.

III. The man’s urine may become more watery.

(A) I only




(C)
I and II only

(B) II only




(D)
II and III only
5. Which process below involves a semi-permeable membrane?

(A) Diffusion 


(C)
Osmosis
(B) Evaporation

(D)
Transpiration

          Question 6 refers to the following graphs, which show the changes in blood sugar 

          level of two patients, I and II after a meal.
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6. Which of the following BEST accounts for the difference between I and II?

(A) Patient I did not complete his meal.

(B) Patient II is a diabetic.

(C) Patient I was given a large amount of carbohydrate.

(D) Patient II was given a large amount of carbohydrate.

7. Which of the following is NOT a factor affecting transpiration?
(A) Air fully saturated with water

(B) Leaves absorbing energy from the sunlight from photosynthesis

(C) The depth of the soil that holds the root

(D) The amount of soil water available

8. Which of the following persons should be advised against selecting diving as a 

      means of recreation?


A person

(A) suffering from haemophilia

(B) who has anaemia

(C) suffering from diabetes

(D) who has a small lung capacity

9. Bacteria grow BEST where there is moisture and

(A) little food


(C)
high acidity

(B) much sunlight

(D)
moderate temperature

10. Which sequence BEST describes the life of a flowering plant?

(A) Pollination → germination → dispersal of seeds → fertilization

(B) Germination → fertilization → pollination → dispersal of seeds

(C) Pollination → fertilization → dispersal of seeds → germination

(D) Pollination → dispersal of seeds → fertilization → germination

11. The carbon dioxide concentration should be higher than the oxygen concentration in human blood

(A) about to enter the lungs

(B) leaving the lungs

(C) about the enter the pulmonary vein 

(D) leaving the aorta

12. The part of the skin that aids in temperature control is the

(A) malpighian layer

(C)
sebaceous glands

(B) hair follicle

(D)
sweat gland

13. When anti-B serum was used to test the blood group of a donor, the result was 

      NO clotting. The same result was observed with anti-A serum. It is MOST likely 

      that the person belongs to the blood group

(A) A


(C)
AB

(B) B


(D)
O

14. A person rescued from drowning is given artificial respiration because
(A) some water might have entered the lungs

(B) the person might have swallowed some water

(C) water might have cooled down the body

(D) water might have infected the person with germs

           Questions 15 and 16 refer to the diagram below which shows four parts of a 

           premolar tooth of a carnivore.
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15. Which structure is made of enamel?

(A)


(C)

(B)


(D)

16. Which structure is the pulp cavity?

(A)


(C)

(B)


(D)

17. The primary producer in the marine environment is

(A) shark

(B) shrimp

(C) plant plankton

(D) animal plankton

18. Paper waste in the home can be BEST disposed of by

(A) dumping it in the public sewage system

(B) heaping it behind the home

(C) burning it in a convenient place

(D) storing it for recycling

19. Menstruation, the periodic swelling and shedding of the uterus wall, is controlled by
(A) a combination of hormones from the ovaries and the adrenal glands

(B) nerve messages

(C) the muscle and the nerve network in the uterus wall

(D) the levels of oestrogen and progesterone in the blood

20. Which of the following are controlled by hormones secreted by the pituitary gland?

I     Growth

II    The secretion of sex hormones

III   The body’s water content

IV   The level of sugar in the blood

(A) I and II





(C)
I, II and III

(B) I and III




(D)
IV only

21. Asexual reproduction involves

(A) two cells fusing
(B) a cell splitting into two identical cells

(C) male and female cells fusing

(D) sex chromosomes fusing

22. All the information to make a new individual is coded in the _______________ of the embryo that develops after fertilization

(A) cell walls


(C)
cell membranes

(B) chromosomes

(D)
cytoplasm

23. Mammals lose waste heat through all of the following EXCEPT

(A) the villi


(C)
the skin
(B) exhaled air


(D)
the urine
24. Reflex actions like the knee-jerk reflex are 

(A) conscious actions directed by the brain

(B) unconscious actions involving the spinal column

(C) unconscious actions involving the endocrine and nervous systems

(D) conscious actions directed by the brain and endocrine system

25. Germination is

(A) the transfer of pollen from anthers to stigmas

(B) an ovule fusing with a pollen grain

(C) seed formation

(D) the growth of a new plant from a seed

           Questions 26 to 28 refer to the diagrams of the male and female reproductive 

           systems.
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26. Which structure produces the sperm?

(A)

(B)

(C)

(D)

27. Which structure produces the egg cell or ovum?

(A)

(B)

(C)

(D)

28. Where is fertilization MOST likely to take place?

(A)

(B)

(C)

(D)

29. With what must a plant be supplied so that it can photosynthesize?
(A) Water and sunshine

(B) Water, sunshine and carbon dioxide

(C) Sunshine and carbon dioxide

(D) Sunshine and plenty of fresh air

Questions 30 – 33 are concerned with the following diagram of the digestive system.

      
Each of the labelled parts of the digestive system may be the answer to one, more 

            than one or none of the items.
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30. Salivary amylase is produced in

(A)

(B)

(C)

(D)

31. The pancreatic enzymes are poured into

(A)

(B)

(C)

(D)

32. Where is most of the food absorbed into the blood?

(A)

(B)

(C)

(D)

33. In which part of the digestive system is the pH acidic?

(A)

(B)

(C)

(D)

34. An ideal breeding place for bacteria would be

(A) uncooked food


(C)
cooked food

(B) dry food



(D)
frozen food

35. Wind-pollinated flowers are

(A) brightly coloured


(C)
scented
(B) small and inconspicuous

(D)
nectar producers
36. Complete the following sentence:

A plant at night-time……

(A) absorbs water and gives out oxygen and carbon dioxide

(B) gives out oxygen and absorbs carbon dioxide and water

(C) gives out water and absorbs oxygen and carbon dioxide

(D) absorbs oxygen and gives out carbon dioxide

37. Which of the following is NOT a true statement?
(A) Antibodies are part of the body’s defence system against disease.

(B) Measles is a disease which people can catch many times in their lives.

(C) Smallpox can be effectively controlled by vaccination.

(D) Antibodies help the white blood cells destroy invading microbes.

38. The diagram below shows some foods preserved for storage.
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Figure 2- Some preserved foods




Figure 1:  Some preserved foods

Which food (s) in the diagram is based on the principle of osmosis for 

      preservation?





I.
Salted fish

II. Dried peas

III. Pickled onions

IV. Raisins
(A) I and III

(C)
I only

(B) II and IV

(D)
II only

39. Plants keep cool under a hot sun

(A) by water evaporating from their leaves

(B) by keeping in the shade

(C) by losing heat through their roots

(D) by reflecting all the light falling on their leaves

40. Chlorophyll is necessary for photosynthesis because it
(A)
traps solar energy

(C)
combines with oxygen
(B)
absorbs carbon dioxide
(D)
reacts with glucose

41. Fluoridation of drinking water

(A) helps to make digestion more efficient

(B) helps to prevent tooth decay

(C) kills microbes in the water

(D) removes hardness from the water

42. Each of the millions of villi in the walls of the intestines has a rich network of 

      blood capillaries. Why do the villi need such a good blood supply? 

(A) To carry wastes to the intestines so that they can be excreted

(B) To ensure that the villi receive a plentiful supply of oxygen

(C) To keep the intestines warm

(D) To carry the food from the intestines to the rest of the body

43. The first products of photosynthesis are

(A) starch and glucose


(C)
glucose and oxygen

(B) carbon dioxide and glucose
(D)
water and carbon dioxide
44. The phloem vessels in a plant 

(A) carry water from the soil to the leaves

(B) carry carbon dioxide from the atmosphere to the chloroplasts

(C) carry food manufactured in photosynthesis around the plant

(D) carry mineral salts from the soil water to the leaves

45. What is good advice to follow when using pesticides and other toxic substances?

I
They should be stored in a fire-proof container.

II
They should be kept well out of children’s reach.

III 
They should be stored in a locked cupboard.

IV
They should only be used for the purposes specified by the manufacturers.

(A) I, II and III


(C)
II, III and IV

(B) I, II, III and IV


(D)
II and III

46. Which of the following is NOT controlled by hormones?

(A) The level of glucose in the blood

(B) The changes that take place at puberty

(C) Growth

(D) The secretion of salivary amylase

47. Gram for gram, which class of foods stores the most energy?

(A) Carbohydrates

(C)
Fats

(B) Protein  


(D)
All release the same amount

48. Which of the following are signs of the body working harder to supply muscles 

      with oxygen?


I
An increased secretion of digestive enzymes


II
An increase in breathing rate


III
An increase in the blood levels of haemoglobin


IV
An increase in pulse rate

(A) I and II



(C)
II and III

(B) I and III


(D)
II and IV

49. Which of the following hormones is only occasionally secreted in large amounts?
(A) Insulin

(B) Progesterone

(C) Adrenaline

(D) Testosterone

50. A shot putter who is interested in building up his muscles should eat plenty of

(A) Proteins


(C)
Fats

(B) Carbohydrates

(D)
Vegetables
END OF TEST
